= , =
" w w103 47138
%*i?f;t . ﬂ%: ()‘ % |q‘ n
PRAFFMR © | 6% F 5 a

* ey
ZETEAIEE & @ i

Wkt 708 & kM RH-F&AKEHB —FHEOR

AN A
&35 06-3901541

73045 A 06-2953442

ST HEE &) LE1275 % F15 4 * chochieh@mail. tainan. gov.
tw

XXHEAMEASHBGELRG T
HFxad: PERBAIGF4A88
BXFWR T —F$105035793035%

S DU R
EERBERERAEIMR
Mt - o X §

B mEARARIBFELIALIBHAE "0206% & F & K iRILE R i3
WIS @R KERTh o HER -

Bl Ed T EUR B SRS

/g)b\ l

ARERDR & TRERMEFTHRART

(@$&M¥W‘F@ FHE

15 |- PORRHESE RSt ]
2 EICT T

#1R #IR

d/s‘wr




T BUR L A E R T E A
0206 & & 9 & £ RIE £ MBI TE R LK

R PERBIGE4A I BEME(TH 15830 %)

W25 D KJFAKET PO D LR ERE

FHREFA  ERKEER

HFAR iR E ek - B

— R 10206 &y E S RALIE EMIBHEA | ML A -
S S ERRE koM -

BEe LFI1TH 1%




0206 & @ 1 & KRR R FEFHE X i

Ak 1/5 R

Fit A HE A S 48 A

B

R 2 A

AR M b & W F

uhk

& 2 2 (#7) # i

45 B #4

i A H

E R YA

[MEiRER [gmER (A% - £64% (i€

R kg

[IR.C. s o i sgse[ e[ R (e[ 4y e [JAR[+

A)

- HEAR

B < A

WAL
EE S

(] BB %8 (MTF_fatER—ELE)

(1) [ #a%eb 3£ 1/200~5/200 -

(2) [ #3bir U ra AR @R R M@ 20~60 2% -
(] b8 48 @ (M Ff&#ER—ELE)

(1) [ #a%ee 3% 5/200 A E -

(2) [ #E3ir L rE A2 B AR R b 60 24 A £ ©

R BH®K

(1) [ #RkEHE
(2) [ #EIFr

54278 B
H

— ~ B BAASH4K E K TR

] % Biast4kiE(F 7 TRTRS)
—HBER

(] s R#ER

Z - BESMA

(] kELR(SEE®)

] AMIRIEAR ~ KRR At LidiR
L] ARSMARIEAR ~ KRB R Rt L idiR
L] RC 47/ = 4 B AKIR By i) it 3%

[ 1B 28 47/ 45 R KR R i %
(] 1/2B #8474 R AKIR B ) il i
(] # & epoxy x4t

(] sedidid

O] sspibditrr E46(AEE)

L] 33T Rs > HEARITIR 3 & R 30361
L] & 7 46585 P

[] 48P

] s2%

L] &P

(] #ex2e

iR

LI548 # &% 7o (mIAFER B &)
[Hrrr # & % 7L (4mIRs¥ R, C &)




[
0206 T EXRICEEMBBAB XL EE/ 61250 wn
MR TAMI  &hH ) ] 3% A
k| T oo a8 | wonuwnix [se] xe [ wm [ am [was 3
) 54 TR
— | B A4 E XA
BFRRMAF KL+ k—
BT BN © U AA
|| B BRRSRECE AR | -2 1.00 6,353 6,353 70,000 7/4*+30%=21,000 /4
wA) =6,35370/m’ + 7 fe A M bR
@ik A M A250,0007 -
= MR
W lm’ — & 0 5 £ 6miE
oAb RO Ak s M A 2 A
A T % 1 m 1.00 500 500 BN - BRUIFE D
0 R AR %A 100,000 (4
AHAR) - -
= |WMESL
: . ] e FRAR R - f— R
1| kT (At f b)) I X 1.00 150,000 150,000 g Rip-pn
ARSI ~ KRBy H#32m S H SR R—
2 mm sk 1 % 1.00 120,000 126000 | I |
RIS ~ KRB EH40m > 4 MAMR  K—
3 g
by Y 1 % 1.00 80,000 80,000 i -
$TFR 1 2cméR 35 LA 24 E
g £) ATHAREL  ARH
4 Rcﬁimtﬁ&**' 1 m? 1.00 4,520 4,520 BIARBRE M E L AEBR
By i) i % AR AR — A AT
PR -
WB&Y ~ KRB R iR E
IBAg Al 472 & 1 R K 2 BEERKGL2CRM B
T LT . & ik " L 1IB& » 8§ f— A T 25 47 0
B4R -
W12BAR ~ KRB B R IRk
5 [[EENSHEEGA | o 1.00 2,760 2,760 AUEM R1IBS - E K
AR AR o~ A AT AR -
7 | 8 tkepoxy:t 4 1 m 1.00 1,200 1,200 G WA LKA RN
8 |tk 1 m? 1.00 200 200 G A LR T RM
. Wik s B A LA R
9 ‘:"*T’*!‘*‘%’E I m? 1.00 2,600 2,600 15 My b R i — AT
) AR -
$TRR 1 20m s 5 AR £(4E
WIET R 0 MR T > £) s ATHARIR LB IBAER
10
B A e 2 L m A L0 A EMELARBAEEM W
A — 347 AR -
(350cm*300cm*1.5mm) * % &
TS 1. Yol 1 ¥ 1.00 65,000 65,000 ppygipeyipud
360%250(4 45 Pk ) - & M
12 |42m 1 " 1.00 25,000 25,000 optfencririis o
140* 150(4- 4 P 55 58) » 2 s %
13 |seg I w 1.00 5,000 5.000 i bi A
904210 + k&M 4 £ Rk A
14 |km 1 W 1.00 4,000 4,000 ol
15 [ 1 m’ 1.00 350 350 e — A 447 My AR
(—) it 318,050
() | R %HEALE % 10.00 318,050 31,805 (—)*10%
=) |mEaEee % 15.00 349,855 52478 (—)H=)*15%
IRMELM A 402,333

[frac @ ]-[s&5t]-1




CE 3/5H

02065 Fd T = SE R L SRR IR T ER R

EVARRE  m’ SRS SE B | Wbk | /NEHoD)
50%
EREE YN SEHE | K
25%
EERAIOT) Tt

faE © BA{EAKR " BERE TR AL TR T R ARG, HR—




i —

4/5 R

BRI EREBHBRERER
B MERAL/TFH AR
N E2|ITE4|+N
‘ —R R |wR | 2R R
wmE\RE | TFE W5 5 we |z R\ BRI
B 5 | B 5
— %5 |—%32
—%=F | —E=F |- $wf|-¥w —%xF | —HAT
F+—&B|FAE
E2WE2¥ | =F2+ . '¥t+ Fta 2k ot B +a
% = =
=N — (= |- ¥%$=|—"¥w
249 ~R=F | —R=F| =K==+ —®EF | —#F
. F—a|FTxE|T=8
o= g —&A+ | —BA+ | AB—F =BZ2+ |85+
N =+ |5+ |A+E
5 R I
~%EL(—NEE|-%—F — % = I LRt T
FhE F+—5
a—+ a—+ Zaw+ Fxa F—+ 29 &+
++ =+
~H=F | R=]~%=
—EEN| B EA
ANBE+|FTEE|F=8
Bt x | F—+5
E + 5 .+
— %%
fro 5% #% AFE=Z | AFTE=Z | ATEE |- %% = &
& + + +E (At |
A
A F
tf+tB|tFLtB|ANTELE =l AT =
£+ £+ a5 B+
EA
. A e
AT=Z=E |[ATtE | AT=F &
i AXTEE | AFALE | tFmE | AF
AT R
2+wmE | 2FAE | AF=8 =
A F m
tF+&28 | tFAEB |AT—F =
i XEA
4 4R 3% EFtdE | A F AF=8 =
A+ x
wt+td | 2F AF=8 -




— FEEREME—HREMEHES
FEEFhtanZ—tHEZ -

fn

M#%&— 5/5H

1 Lt | xF=8 | A+ AT
e | v |wfrs |af-a
58
4%
B G R L et B latial
A3

AFER|AFAE

5 3

+ —+%
- 4h 3% 3R, = wftd | ZFEmw
AR —+x |+

ZH+A AT | =% 1B

’F

AME | At
o MR AT R 5 N LR ERBBRBARESEE—
— s Z 18 SEA=Z/NR 5 BRI AZREZEE—NR

A 3 gyl BT 2 A0 N S A
HESE-ZAR
FREM | Binbaldai x60% x &3 FAF
=R

HFE 0 AT EERZEMLR A EER

B R REA L EREM BB TRXEMMMZ -




